
SAP ABAP table V_TWLWR {Generated Table for View}

V_TWLWR

MANDT [CLNT (3)]

LIST_ALG [CHAR (2)]

SSTUF_ERG [CHAR (2)]

SSTUF_01 [CHAR (2)]

SSTUF_02 [CHAR (2)]

SSTUF_03 [CHAR (2)]

SSTUF_04 [CHAR (2)]

SSTUF_05 [CHAR (2)]

SSTUF_06 [CHAR (2)]

SSTUF_07 [CHAR (2)]

SSTUF_08 [CHAR (2)]

SSTUF_09 [CHAR (2)]

SSTUF_10 [CHAR (2)]

SSTUF_11 [CHAR (2)]

SSTUF_12 [CHAR (2)]

SSTUF_13 [CHAR (2)]

SSTUF_14 [CHAR (2)]

SSTUF_15 [CHAR (2)]

SSTUF_16 [CHAR (2)]

SSTUF_17 [CHAR (2)]

SSTUF_18 [CHAR (2)]

SSTUF_19 [CHAR (2)]

SSTUF_20 [CHAR (2)]

T000

MANDT [CLNT (3)]

 V_TWLWR-MANDT = T000-MANDT 

0..N

1

TWLAG

MANDT [CLNT (3)]

LIST_ALG [CHAR (2)]

 V_TWLWR-LIST_ALG = TWLAG-LIST_ALG 

0..N

1

TWSS

MANDT [CLNT (3)]

SSTUF [CHAR (2)]

 V_TWLWR-SSTUF_01 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_02 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_03 = TWSS-SSTUF 

0..N

1  V_TWLWR-SSTUF_04 = TWSS-SSTUF 

0..N

1  V_TWLWR-SSTUF_05 = TWSS-SSTUF 

0..N

1
 V_TWLWR-SSTUF_06 = TWSS-SSTUF 

0..N

1
 V_TWLWR-SSTUF_07 = TWSS-SSTUF 

0..N

1  V_TWLWR-SSTUF_08 = TWSS-SSTUF 

0..N

1
 V_TWLWR-SSTUF_09 = TWSS-SSTUF 

0..N
1  V_TWLWR-SSTUF_10 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_11 = TWSS-SSTUF 

0..N
1

 V_TWLWR-SSTUF_12 = TWSS-SSTUF 0..N1

 V_TWLWR-SSTUF_13 = TWSS-SSTUF 
0..N

1

 V_TWLWR-SSTUF_14 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_15 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_16 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_17 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_18 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_19 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_20 = TWSS-SSTUF 

0..N

1

 V_TWLWR-SSTUF_ERG = TWSS-SSTUF 

0..N

1


